*AAT | Name: JAM

Semester 2 Final Review (Ch. 6-11) U

Write the letter for the correct answer in the blank at the right of each question.
1. Find the center and radius of the circle with equation x* + (y-4)* = 9.
A. (0,4);9 B. (4,0); 3 C. (-4,0);9 D. (0, 4);3 1, P .

2. Write an equation for the hyperbola with vertices (-10, 1) and (6, 1) and foci (-12, 1) nd (8(1)/

x+2)2 (y-1)? (x-2)? (y+1)? F d
A—"—"""'__‘—'_—:l B. —— ——= A
64 36 36 64 Pttt
=2 1) (x+2)?  O-1)? \/ e r A
C'T“-_S-G—:l ‘D'T_T 2 *
- [ \\ y/""’
\
3. Which equation is graphed at the right? k| 7
2 ‘\ 7
B, » : Y
A X*-9=9 CB. 9y*—x*=9 #q(,-'x
I
C. ' -y*=9 —9¥=9  y* &, 1l 3. D
I

4. Write the equation x*=2x+y* +4y=11in standard form.

Y2-24 4\ 4 \’24-49 M =) +5

Ax-1Y+@+2P2=16 B. (x+ 1)’ + (¥ —2)’=16 £,
(%P (y12) 7 o

(x+1)®  -2)? _ (x-1? (-1 _ .

C. Z +—4—-—1 D.—4 —_ =1
; . 2 i > - 4 ‘
5. Write the equation 4x“ + 24x — y + 34 = 0 in standard form. ‘-] | & 4247' ..,\/-3 « 4
Uy * +4) =\-344+36
A y=4(x—-3) +2 B. x =4y’ + 2 X+6* \)

=32 44
D.x=4(y+3)2+2'q)“3); L 5._C/m.

A(aeyf-2 =Y

2 >
A. parabola B. circle C. ellipse D. hyperbola Hx el 6. D

C.y=4(x+3)-2

6. What is the graph of 4x’= y* + 8y + 32?

7. The graph of which equation is a circle?

2 2 -
A. 5% +10x = 9 + 5 B.5x—10x=9-57 IR +5Y 9

5%z 2% #) #8597 =45
C.5x*+5x+y’=9 D. 5x*+10x+5y =9 7. Ji

i(x—y’«u’ -;zﬁ‘_

1 /
é“.”) +—12_’_ =]
2 4l
5 L 3

-0

same>
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8. Solve the system of equations by graphing *+y*=16andy = —x + 4.

A. (4,0),(0,—4) B. (0, —4),(—4,0) C. (=4,0),(0,—4) D. (0,4),(4,0)
9. Which system of inequalities is graphed at the right? T '
™
A x*+y2<16 B. x2+y?<16 e N
X —=ym=3 X~y =3
C.x2+y?>16 D. x% +y2 > 16 AN
x—y>=-3 x—y<-3 - A
Find the exact solution(s) of each system of \
equations for questions 10 & 11. 4 T +y-jo0 = 0
direle pasabola o & %'} ry 725 ) 4{7 ‘;I I
10. x2+y2 =25and 9y = 4x? y¢*2 % / %
4 .5— g X J.',If a])’}”\f"}ﬂb ( Y=t3

A (4,3),(~43) B. (3,4),(3,—4) C. (4,3), (4,—3)

D. (3#‘(—3 4)

pprsbele me B | z24
11. y=x?+1andy = 2x ?;( 24 +120 C’L X)"’}o f?}

A (1,2),(-12) B.(~1,2) "8 (1, 2)

12. Write the equation of the parabola y = 2x2 — 8x + 1 in standard form.

)L;@(\)«J*” A y=2(x=2)7+9

Cy=2x-2?%-7

A. y2+2 __B.x=-:y?-2 Cy=;x*-2

X .
ET‘»—\

\ i /'A.y=4x2—16x+16 B.x—4y - 16y + 16

C.y=%x2—-x‘+1 D. x—-y —y+1

B.y=(x—4)2—15

D. y=2(x—4)>-15

14. Which eqt tlon13' graphed at the rlght"’ 4(\}3 J-)\) m) %_4(:}'1

Sy

J

D. (-1, 2),(0,2)

-]

D.y=—% 24

y

o

]
[

——

15. Write an equation for a circle if the endpoints of a dlameter are at (- 1)

and (5, 1).
A x2+ (y—-1)?%=6
C. (x-1)2+y2=6

-7+5  1x)
A 2 ) 2

B. x+1)*+ (v — 1)2—36

D. x—1)2%+ (y+1)2=36

o .

. 5.

10 E_.

11.‘&.
= 2[¥-4x +4)
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16. Which is the equation of a circle with center (2, 0) and radius 2 units? 7{—2); ¥ \); : L}

>
A x2+ y*+4x=0 B. x2+ y2—4x=0 )(2’*,)(' ¥y = K
» (X))
C.x2+y?—4y=0 D. x?+ y2+4y =0 16.
; . o ; M 280 207 9
17. Write an equation for an ellipse if the endpoints of the major axis are at (-1,5) 63/ 8 -s)
and (—1,—3) and the endpoints of the minor axis are at (—4,1) and (2,1). R A L
| k¥
o+)? | @-D? _ @+1)? | o+D? _ 2p=l
ATy B 4= beS
— )
(x-1)% | (r+1)* _ -1% | G+1)? _
6 g | B, Fe e sl _ 17. l ‘
18. Which js the equation of an ellipse with center (1, —2) and a vertical major axis?
r-2)? ) _ i) -2
A. 5 + T 1 ‘ B. o + p =1
o+2)? |, (-1 _ x-12 |, 0+2)? _ C .
C.9+4—1 D.9+4-—1 18._
19. Find the 20™ term of the arithmetic sequence in which a; = 5and d = 4. a’lﬂ‘: 0,, "’@’DCJ
A. 81 B. 85 Co% D. 105 =51—[2P9‘19. A -
20. Write an equation for the nth term of the arithmetic sequence - i_tjg

-7,-2,3,8,... )
= =7+(n-1)5
A.ag,=n+5 B. a,=5n—12 aﬂ_ 7 (
T =)¥b5n-5
C.a=-7n+12 D. a,=-7(n+5) = An-12- 20. .
"___ﬁ_ﬂ
21. Find the two arithmetic means between 6 and 30. 6} — 30
A. 12,24 B. 14,22 C. 12,18 D. 18,18 21. 5. s
: Qoy= (p+(4-
n 22. Find S, for the arithmetic series in which a; = 3,d= %, and a,= % 3‘5 _ g*g; )d .
7-( T 27 B. 54 c ¥ b 69 = s 53, D.
=12 g(fzﬁ)ﬂ 1242081 23,
o = a3 - / — 5
23. Find Z (50 — 2n). “or- %= g4 er)A
..',-p . {

n=18

A. 20 B. 40 C. 50 D. 100 23. O'
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24. Find the sixth term of the geometric sequence for which ;= 4andr = 3

A. 247 B. 972 C. 733 D. 2916 24, B',
n=l

25. Write an equation for the nth term of the geometric sequence ﬂ = _/0 P

] il n Z

10,5, 3
h-l n-1
A a,=-10(3) B. 0,=10(-2)
n-1 =n-=1
. o= -10(-2) B o= =18 =) . G

2 :

26. Find four geometric means between 486 and 2. #659 —_— ) ey —y —

A. 162,54, 18,6 B. 389.2, 292.4, 195.6, 98.8
2=4%r
C. 242,121, 81, 16 D. +162,54,+18,6 | I 4 26.ﬁ-
' 45 7
27. Find the sum of the geometric series 81 — 27 + 9 — --- to 6 terms. —JL =)
n
‘5;;-@;’ 4 B i B. 121 D i 27.)_3-

—y B3
} . = gl_éi. )32
28. Find Z 4(=3)"1. ( 3)

A. —2186 B. 2188 C. —728 | D. 2916 28.
f'29 Find @, in a geometric series for which S, = 210,r = -2, andn = 6.

J- ally——

1Y g A 10 B. —10 g L o 22 29, 8

I 2 10 3
2’0’4 T . . ‘ 3 o

or Questions 30 and 31, find the sum of each infinite geometric series, if it exists.
210 -‘—— /0 e
2y ) J:_ i 1o =)0-5 - _ﬁg, é—ﬁ
0=2ley D 10(2) J-r /-(5) )
-2 ’ -2 ' n=1
:’_?,:fﬁ. AZ B. 8 c2 D. does not exist 30. ~
35 +4+24
g P

A. 20 B. 25 C. = D. does not exist 31.

Rt o

o' / 3
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Ogz 2(-)+2 =0 = 0
. Find the fifth term of the sequence in which a; = —1and an+1a=42—f-1n2 1?)+5 % 7

|7,

A —1 B. 25 C.3 D. 10 32.
. Use Pascal’s triangle to expand (m — n)>. |
' 11
A. m® — 4m*n + 6m3n? + (—6m*n?) + 4mn* —n° i 2 .3
B. m® + Sm*n — 10m3n? + 10m?n3 — 5mn* + n’ ) 3 3 )
C. m5 + 4m*n — 6m3n? + 6m?n® — 4mn* + n® | 4 4 | D
D. mS — 5m*n + 10m3n? — 10m2n3 + 5mn* — n® o 33 .

—) 50 w0 5 ]

. Use the Binomial Theorem to find the third term in the expansion of (x + 3y)°.

A. 15x%y? B. 135x*y? C.540x3y3 D. 20x3y3 34. ﬁ
“ % 5, Al
| | KE+(O)RB9) +(8)1 50
. Find the value of csc A. g o 7 =
e IEXT Gy~
- (725x7y &)
: _ :

" 17

8 )5 B
A. = B. T }5
Jl}l A’ ® -—?—_
. = . 17 ! 35.ﬁ-

. Which equation can be used to find x? .

A sin21°=2%  B. tan21°=Z
x 8

C. tan21° =2 D. sin21° =2 36. ( 2
x 38

. Find A to the nearest degree.

A.49° B.37

.

C.41° D537 37.

e 2T « x
. Rewrite o radians in degree measure.

A.20° B. 80° C.40° D. -

- : : y ; o . 5w
. Which angle is coterminal with an angle in standard position measuring — =~ ?

13m 5w 23m 10w A .
A. S B. = : C. 5 D. 5 39.




40.

41.

42,

43.
",
0 44,
P /]
9 45

46.

47.

48.

49,

Bk

Find the exact value of sin @ if the terminal side of 8 in standard position & e

contains the point (—4, —3). (

A -2 B. -2 c? D. 3 40.&
. 0 01‘)

Find the exact value of cot 450°. -—r: 0

A0 B. undefined D, —1 41._A_-

Find the exact value of cos — —-

vz V3
A B2 D.—% 42.
In AABC, A = 40°, B=60°,and a = 5. Find b. Eb> m: 5_}_'1;{’9
5 )4
A. 6.4 B. 7.5 ces B % D. 3.7 43. C/

Find the area of AABCif A=72°, b=9feet and c = 10 feet. f/mXQ)an 72—-0

N

A. 85.6 ft? B. 42.8 ft? C. 45.0 ft D. 13.9 ft? 44,
. e 12
.INnAABC,C=60°,a=12,and b=5. Find c.
A & B
A. 109.0 B. 10.4 D. 15.1 45, §

Foar /z’+5}'2; 5) (o5 60°

Which triangle should be solved by beginning with the Law o osmes?

A A=115°, a=19, b=13 B. A=62°, B=15° b=10 NO Side A.,9 £ﬁu

C. B=48°,a=22,b=5 - D. A=50°b=20,c=18

Lod Sin
9 40
P(_Tﬁ - ) is located on the unit circle. Find sin 6.

2 2 D. -2 47.A'

40
A. oy B. = C. e : ~
Find the exact value of cos (—420)°. e’ 1
- %
B —a B. 2 e 2 B, = 48. V.
2 2 2 2
Determine the period of the function.

A 2 B. 3

49._&.

€. 6 D. 1




50.

51.

52.

53.

54,

55.

56.

57,

58.

59,

Write the equation sin ¥ = x in the form of an inverse function.

A. y=Sin"x B. %= Sin~ty C. y=gimr<ax-
oo A PP
Solve y = Arcsin = \’ =Sin( 2
sm : 5w
A. _? B. ? C _"'g

Find the value of Sin™?! (— %)

A. —30° B. 30° C. 150°
5 ,_11
Find the value of Pa{\('I";{l 5).
A, =1 S g =
2

Find the amplitude of y = 8 sin 26.

A2 - B.wm c8
Find the period of y = tan 36. _’I\'_ . &
2
B 2 i B. = =" C, 3
3 3

Find the phase shift of y = cos (9 +2?“) e 5=

)
2 ™
+'B. — C. =~

A 5

w|d

t.

Find the vertical shift of y = 3 csc 6 -;_5__

K, =3 B. -5 ¢.5
. i | %
Find csc 6 if cot § = 3and 90° < 6 < 180°.
TR ‘ 22 c. Yo
3 . 3 3
Find sin 8 if cos @ = —gand 90° < @ < 180°.
B, L ¢, —¥=
3 3 3
3

&

-4
-2

.y=Sinx

R

. 330°

. 61

2m

50._/ l

~

51.

[

55.

o

o

56.

S

57:

IS



2 i /
.J"n - J"n - [- L] 405‘;
60. simplify =222, ——— = " g% = i SAH>
A. —cos?8 B. sec?8 C. cos?8 D. sin%@ 60.
61. Simplify —5(cot?8 — csc?8). /] 4—5'4}’?- = 050%Y [—-5_‘)(")) ”_f__
c0*9 50’ = =/ A_
A. 5 B. =5 C. =5csc?8 D. 5sec?d 61.
62. Which expression is not equivalent to 1?
St 14c04% sinZ6 ke
. 2} Mo A. sin?@ + cot?0 sin%@ ., ————cos 0 :
Mo’ - 1-cos @ { £ 4
5 / ﬁh’ﬁ" . S spA
_/__}fﬁ;él C. sec?8 +tan29M Co.fzﬁ" D. ED—tZa;——i;zg ™ 7 e 3 62. C)
ro5 cos b Sin 9,-[
o Sine _ ol e 7
63. Which expression is equivalent to tan 8 — :’: 5 ? M$9 @50’9”'0' C05% - -Sind 2056 .5),@ Sy
b‘fn
— = T A0S ;,A —coté B. cot® C. tang —cot @ D. tan 6 — sec?6 63. A
64. Find the exact value of cos 375°. 605(/50 -f'22§j = £0S 5D C J‘m 59 J) Q.
A B2 p, g .——"'— L] p. =% s P
4 4 s
: $4 CoST — Son 6 -5in ¥
65. Which expression is equivalent to cos (8 + E)? o
2/° Costre O — d‘m# @
-— - n
A. cos@ B. —cosé@ C. sinf 9 J‘M&D.—sin 65. D
: o 5 -{5 S$in 267 2Sinblest
f’ 66. Find the exact value of sin 28 if cos 8 = ——3—and 180° < 8 < 270°. 2(.% ({5
ﬁf*f Z ‘ 14
6 1 _M5 1 RaE] !2 =4 H5
A. —% B. - » C. 3 D. 5 66. -g‘c‘g'
X’ 67. Find the exact value of sin - ®ifcosd =2and 270° <8 < 360°. )35 £ & < )80 K ¢
= = .——' k- < 5 :

T
B. —3 D. -2

,'
,/ 695'9 68. Find the exact value ofeas 105° by using a half-angle formula. Cos 7’“ N }+ el —\/ /

G s
6

W

. B A
2-/3
L % _[% = “’g g, B2 £, ¥ kS fj, AEEE 68. Z
] ] 2 2 2 —r 5
2
269 ind the solutions of sin 26 = cos #if 8° <6 < 180°. v =.[2-]3
I 4 A i
= -
(, b . 30°,90° B. 30°, 150° .30, 9@“, 150° D. 0°, 90° 150° 69. O ° QJ
ASine los6-C056- =0
m(gsma- =0 : 2-13
b

Cose=0 ~ Asinb—/=0 \9'/



70. BIOLOGY An insect population P in a certain area fluctuates with the seasons.
It is estimated that P = 17,000 + 4500 sin :—;, where t is given in weeks. Determine
the number of weeks it would take for the population to initially reach 20,000.

A. 12 weeks B. 692 weeks C. 38 weeks D. 42 weeks 70. t \ .

Y, = 20,000
Y, = 17000 #4500 Sin (( "“)/52)







